=
N & 0l & AF & & A A
P019HIE £ 33 YBEN REHLD
SN RESND
H: sesE TS
S9 sA2 MNRSHH 75 (29l & 2)
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
REEND 19,869,845 20,626,844 756,999
2 3,288,234 3,160,764 127,470
| 3,868,080 3,808,080 60,000
< 2,202,476 2,145,135 57,341
2 10,511,085 11,512,865 £1,001,810
sYsE oYU 19,223,439 20,026,225 A802,786
= 3,288,234 3,160,764 127,470
| 3,868,080 3,808, 080 60,000
< 2,202,476 2,145,135 57,341
2 9,864,649 10,912,246 A1,047,597
SM2 AXNRSHH 25 1,250,929 1,301,043 A50, 114
2 325,468 305,468 0
= 184,647 184,647 0
= 740,814 790,928 250,114
FUX GAP AT EAH X 60,876 82,936 £.22,060
2 41,468 41,468 0
= 12,440 12,440 0
2 6.968 29,028 222,060
201 LerE ] 40,970 63,030 222,060
2 31,516 31,516 0
< 9,454 9,454 0
2 0 22,060 222,060
01 AtR 2t 2lt] 40,970 63,030 £.22,060
OWP £, 84 =24 N2 37.736 58,055 £20,319
2 29,028 29,028 0
= 8.708 8.708 0
= 0 20,319 ~20,319
OMP 218 X2 L HAH 2 3,234 4,975 A1,741
2 2,488 2,488 0
< 746 746 0
ia 0 1,741 A1, 741
NEA 2224 248 (X) 7.146 35,200 £28,054
301 LB a3 3,146 31,200 28,054
09 BAAIHI A3 0 1,200 A1,200
OMEA XX7 BB34 22 g 0 1,200 A1,200
2 IR A 3,146 30,000 726,854
OMEA 2B Y3 =42 LA
121,0002 «2621 3.146 30,000 26,854
=4 3B B 7,562,057 8,702,858 A1, 140,801
| 3,120,027 3,120,027 0
< 553,552 553,552 0
2 3,888,478 5,029,279 A1, 140,801
INSMAE ML2AX HE XS 1,896,300 2,546,300 A650,000
Jl 848,800 848,800 0
< 169,750 169,750 0
= 877,750 1,527,750 650,000




2N REELD
BM: sosE odyAs
el S4 FMe Yst (ol @)
SA-HB S (3H) - NPAY - B 0 &t w/E- HRE2
307 glz2tol & 1,896,300 2,546,300 A 650,000
J| 848,800 848,800 0
& 169,750 169,750 0
a 877,750 1,527,750 650,000
02 HAHFHANEEE 1,896,300 2,546,300 A 650,000
OZAE HZE=258 X& 1,896,300 2,546,300 A 650,000
J| 848,800 848,800 0
< 169,750 169,750 0
s 877,750 1,527,750 A 650,000
ZASHAE =EtHS M2XME X 302,640 332,640 230,000
J| 110,880 110,880 0
= 22,176 22,176 0
i 169,584 199,584 A 30,000
307 glztol & 302,640 332,640 A 30,000
J| 110,880 110,880 0
=) 22,176 22,176 0
= 169,584 199,584 A 30,000
02 It HAMAEE 302,640 332,640 230,000
OXAE MAE =E&= ALelXME X3 302,640 332,640 A 30,000
J| 110,880 110,880 0
& 22,176 22,176 0
[ia 169,584 199,584 30,000
TAZHME STH2Y XS 49,860 87,661 A 37,801
J| 42,665 42,665 0
= 7,195 44,996 A 37,801
307 gl2tol& 49,860 87,661 A 37,801
J| 42,665 42,665 0
s 7,195 44,996 A 37,801
02 B HANEEX 49,860 87,661 A 37,801
OXZME a2 BSXFY N 49,860 87,661 A 37,801
J| 42,665 42,665 0
s 7,195 44,996 A 37,801
d2HANEEdE EAHIX & 824,700 1,224,700 A 400,000
J| 489,880 489,880 0
= 334,820 734,820 A 400,000
307 glz2tol & 824,700 1,224,700 A 400,000
J| 489,880 489,880 0
= 334,820 734,820 A 400,000
02 It M AHEE 824,700 1,224,700 A 400,000
OXEHIEZES ENHl N 824,700 1,224,700 400,000
J| 489,880 489,880 0
s 334,820 734,820 A400,000
H2HIN=HdE8 L2SMEH X2 92,420 115,420 223,000
J| 57,710 57,710 0
s 34,710 57,710 223,000
307 glztol & 92,420 115,420 A 23,000
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R SE R
F -G (3H) - NRAY - B2 0l & o p/E-F 52
Jl 57,710 57,710 0
s 34,710 57,710 A 23,000
02 IZtE M AHEE 92,420 115,420 A 23,000
ONd2HIXTEE sl XN 92,420 115,420 223,000
J| 57,710 57,710 0
[ia 34,710 57,710 A23,000
g 2= 7,210,235 ,822,106 388,129
= 1,916,033 , 788,563 127,470
J| 748,053 688,053 60,000
< 976,517 919,176 57,341
i 3,569,632 ,426,314 143,318
THE LA HEAS P 2o) 2,273,424 ,224,484 48,940
= 1,095,959 ,071,489 24,470
< 442,382 435,041 7,341
[ia 735,083 717,954 17,129
301 et a3z 291,440 242,500 48,940
= 175,720 151,250 24,470
=) 34,716 27,375 7,341
s 81,004 63,875 17,129
12IIEtE 4= 291,440 242,500 48,940
OFHMS Al Al=H X2 (LHES)
5,000 +9,7885 48,940 0 48,940
= 24,470 0 24,470
< 7,341 0 7,341
s 17,129 0 17,129
THE LA HEAS 2EX sdg) 29,646 31,536 A 1,890
= 15,768 15,768 0
< 3,424 3,424 0
[ia 10,454 12,344 A 1,890
301 et a3z 29,646 31,536 A 1,890
= 15,768 15,768 0
= 3,424 3,424 0
s 10,454 12,344 A 1,890
12 IIEtE 4= 29,646 31,536 A 1,890
O&AE3 &Xdl XA 3,510 5,400 A1,890
= 2,700 2,700 0
=) 810 810 0
s 0 1,890 A1,890
AR B4 550,603 400,000 150,603
= 320,000 320,000 0
< 40,000 40,000 0
= 190,603 40,000 160,603
301 gErE L= 550,603 400,000 150,603
= 320,000 320,000 0
< 40,000 40,000 0
= 190,603 40,000 160,603
12JEEd= 550,603 400,000 150,603




2N RESUD
HE: sQsE AL
Sl B JlE RS EERED
SA BB SA(EH) - NEAMY - B 0 4t o4 oI o HIRE
020148 ZeHD 242 (222) N 150,603 0 150,603
IR 205,784 187,918 17,866
2 187,918 187,918 0
2 17,866 0 17,866
101 2121l 74,486 56,620 17,866
2 56,620 56,620 0
2 17,866 0 17,866
TEES 17,866 0 17,866
OSHZL 22X 2224 29
10,5002 #1,700Al 2+ 7,866 0 17,866
SHEL 29 20,000 20,000 0
2 20,000 20,000 0
206 T2 | 5,842 0 5,842
2 5,842 0 5,842
01 2 bl 5,842 0 5,842
ON=Y OSSH =4 24 WEH 5,842 0 5,842
2 5,842 0 5,842
401 AIEHIL 2 THHI 14,158 20,000 ~5,842
2 14,158 20,000 ~5,842
01 Al Hl 14,158 20,000 £5,842
ONEA OISSH 24 24 (1H2) 14,158 20,000 A5,842
2 14,158 20,000 A5,842
IIERY HYES 23 398,777 410,167 A 11,390
< 129,973 129,973 0
2 268,804 280,194 A11,390
206 T2 | 216,360 231,550 A15,190
= 78,008 78,008 0
2 138,352 153,542 A15,190
01 T2 bl 216,360 231,550 A15,190
ONBAY AIZYNY 257 5,160 7,200 £12,040
< 5,160 5,160 0
2 0 12,040 A12,040
OPHS GLEE 22l HSAZEAD 1,260 4,410 £3,150
< 1,260 1,260 0
2 0 3,150 ~3,150
301 YR A2 37,500 16,200 21,300
= 3,240 3,240 0
2 34,260 12,960 21,300
12 JIEH2 43 37,500 16,200 21,300
RSS2 HE 29 X2
150, 000! +250% 37,500 16,200 21,300
= 3,240 3,240 0
2 34,260 12,960 21,300
307 £I2+0| & 144,917 162,417 A17,500
= 48,725 48,725 0




2N
X ZH -
L= B
el

SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
o 96,192 113,692 A 17,500
02 It M AMHEE 144,917 162,417 A 17,500
Ozed FEAL=I| XNE AEAY 7,500 25,000 A 17,500
< 7,500 7,500 0
a 0 17,500 A 17,500
r=EdEdE oY 1,108,080 955,080 153,000
= 103,000 0 103,000
< 119,670 69,670 50,000
s 885,410 885,410 0
101 @124l 218,000 117,200 100,800
= 100,800 0 100,800
S 32,960 32,960 0
[ia 84,240 84,240 0
04 DIt 22 a2+ 218,000 117,200 100,800
O8Hz=zx 224 E=
9,000 «BAl 2tx16H «80 92,160 0 92,160
= 92,160 0 92,160
OsHz=z=x 22X B2 8,640 0 8,640
= 8,640 0 8,640
206 M= Hl 412,540 360,340 52,200
= 2,200 0 2,200
& 66,170 16,170 50,000
T 344,170 344,170 0
01 M= 4l 412,540 360,340 52,200
O SHEL ASAF 72 25,0002 +1,500% 37,500 0 37,500
= 2,200 0 2,200
< 35,300 0 35,300
O SH=xz=4L 224 E5= 7Y
5,000& *2,940 14,700 0 14,700
< 14,700 0 14,700
IIE=ER ™el X 156,000 160,000 A 4,000
402 RIZEX20l M 56,000 60,000 A 4,000
01 U2 EALE X (KA M) 56,000 60,000 A 4,000
ON&s IE2L Hel g 25
10,000, 000 = 14CH *40% 56,000 60,000 A 4,000
=25 EHIA XA 40,000 50,000 A 10,000
402 212t Xt=01 & 40,000 50,000 A 10,000
01 It E2AE B (KM ) 40,000 50,000 A 10,000
ONEZ2E ElHIA XFAE
25,000, 0003 *4JH 2 x40% 40,000 50,000 A 10,000
SUsE IIEER 24F KA 231,000 246,000 A 15,000
=) 54,000 54,000 0
= 177,000 192,000 A 15,000
402 2I2tXt=01& 3,000 18,000 A 15,000
=) 3,000 3,000 0




SH: RESMDY
Y SYsE ATV
Sl B JlE RS CERED
= HH -G () - HEMY - BdS Off &F o4 I E M Husz
= 0 75,000 X 15,000
02 BIAT AR EE (0l FHTE) 3,000 8,000 A15,000
OFUST AHMAANL K&
30,000, 00024 *17H 4 *10% 3,000 18,000 A15,000
< 3,000 3,000 0
2 0 15,000 A15,000
SlHIAZH XA 60,000 0 60,000
p] 60,000 0 60,000
402 RIRER 20| H 60,000 0 60,000
gl 60,000 0 60,000
02 It XHE A E X (01 ETH &) 60,000 0 60,000
OSIBI&ZY XA 200,000 *600hax50% 60,000 0 60,000
p] 60,000 0 60,000
HHSYAU (REELD) 151,202 147,442 3,760
JEEX-T1 91,790 83,080 3,760
o121 bl 91,790 83,080 3,760
101 1248l 91,790 83,080 3,760
IR 53,731 49,971 3,760
OANLQI2R4E Fou=(13g—148) 13,306 12,433 873
~ 62 11,6342 +7Z * 10A| 2t +0 2 7,330 5,236 2,004
- 72 10,5002 x22* 10A| 2«0 1,892 4,730 ~2,838
— 82 9,434%1 x3% *10Al 24 x0T 2,548 1,699 849
- 92 8,508% x2% *10Al 2 <9 1,536 768 768
OxB224g 10,0262 1424 x32A| 2t x9S 40,425 37,538 2,887
WRES(RSSMD) 495,204 453,177 42,027
SHNE 495,204 453,177 42,027
2. THEE2 Bea 495,204 453,177 42,027
802 Bt &t 2 JI Ef 495,204 453,177 42,027
BEFEEETTEE! 387,841 355, 165 32,676
020184 32,676 0 32,676
— EA2 HACCP 2ME XA 2,400 0 2,400
—JIEYAANY X3 9,303 0 9,303
—ARHEE NEAAAY 2,000 0 2,000
~NBLHANRI SHZ KB AL 18,493 0 18,493
— M SE HINS NRAY 480 0 480
02 Al- CHIRZESUES 107,363 98,012 9,351
020164 1,246 629 617
~JIEWHEE Ot K2 1,246 629 617
020174 45,098 44,424 674
~JIEWHEE Ot K@ 2,377 1,703 674
02018 8,060 0 8,060
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